Core Concepts
Question 1-1
Which of the following is not a benefit of adopting an enterprise architecture?
· e) Ensure the cheaper procurement of software components
Question 1-2
Which of the following according to TOGAF is NOT a reason to implement an Enterprise Architecture?
 b) Ensure compliance and protect the interest of stakeholders

Question 1-3
Which of the following is not one of the 7 major parts of TOGAF?
c) Architecture Governance

Question 1-4
What is TOGAF's description of architecture?
· a) A formal description of a system, or a detailed plan of the system at a component level to guide its implementation or the structure of components, their inter-relationships, and the principles and guidelines governing their design and evolution over time

Question 1-5
What kinds of architecture does TOGAF deal with?
· c) Technology, data, application and business

Question 1-6
What according to TOGAF is an Enterprise?
· b) Any collection of organizations that has a common set of goals

Question 1-7
Which of the following is NOT a correct statement about an Architecture Framework?
· d) Architecture Framework is a set of resources, guidelines, templates, background information, etc. provided to help the architect establish an architecture practice within an organization


Question 1-8
Which of the following statement is NOT a reason for suitability of TOGAF as a Framework for Enterprise Architecture?
· a) It provides an immediate return on investment

Question 1-9
TOGAF recommends running the enterprise architecture practice like any other operational unit within a business. For that, which of the following processes capability needs to be established?
(FPS)
· a) Financial Management, Performance Management and Service Management

Architecture Development Method
Question 2-1
You are currently working on creating architecture contracts for execution. Which phase of the ADM are you in?
· c) Implementation Governance

Question 2-4
What sort of change requires putting the architecture through the entire ADM?
· c) Re-Architecture

Question 2-5
Which of the following are NOT technology-related drivers for Architecture Change Requests?
· b) Business technology innovations

Question 2-7
When is Phase A is complete?
· b) Upon completion of the Architecture Vision deliverable

Question 2-8
When is Phase A is initiated?
· d) Upon receipt of a Request for Architecture Work


Question 2-9
In which phase does the Business Scenarios first get defined?
· c) Phase A

Question 2-10
Which of the following statements about Business Architecture is NOT correct?
· c) Business Architecture looks at the Enterprise in abstraction and does not look at the relationship between people and process

Question 2-11
Which of the following is NOT in the scope of Technology Architecture documentation?
· d) Technical implementation architecture


Question 2-12
Which of the following is NOT an objective of phase H?
· b) Finalize Architecture Definition Document


Question 2-13
In which phase is an agreement reached on the architecture method to be adopted?
· a) Preliminary Phase

Question 2-14
How is the Transition Architecture formulated?
· e) In Phase E major implementation projects grouped into Transition Architectures and they are confirmed with relevant stakeholders in phase F


Question 2-15
In which phase is the cost/benefit analysis done?
· e) Phase F


Question 2-16
When is Architecture Governance performed?
· d) It is established in Preliminary Phase and operated on Phase G and H


Question 2-17
Which of the following are NOT business-related drivers for Architecture Change Requests?
· c) Asset management cost reductions

Question 2-18
Which steps among the following is NOT a recommended step to create the required views for a particular architecture?
· c) Analyze their requirement and document them

Question 2-24
Which of the following statements is NOT true for ADM?
· d) The numbering scheme provided in the TOGAF ADM for its outputs is a mandated practice

Question 2-25
Which of the following is a "key point" of the ADM Cycle?
· c) The main guideline is to focus on what creates value to the enterprise, and to select horizontal and vertical scope, and project schedules, accordingly





Question 2-26
Which of the following is NOT a correct reason for limiting the scope of the Architecture Activity?
· a) The inflexibility of the baseline IT technical architecture


Question 2-27
Which of the following is NOT an objective of the Preliminary phase?
· e) Articulate an Architecture Vision and value proposition

Question 2-28
What first-cut, high-level description does Architecture Vision provide?
BTDA
· d) Business Architectures, Data Architectures, Application Architectures and Technology Architectures

Question 2-29
Which are the Key Considerations for the Data Architecture?
MDM
· c) Data Management, Data Migration and Data Governance

Question 2-30
Which of the following is NOT an activity in Phase E?
· e) Perform a cost/benefit analysis and a risk assessment 


Question 2-31
Which of the following is NOT an approach in Phase G?
· a) Creation of an Implementation and Migration Plan in co-operation with the portfolio and project managers


Question 2-32
Which of the following statements about Requirements Management phase is correct?
· c) It does not dispose of, address, or prioritize any requirements; this is done within the relevant phase of the ADM

Question 2-33
How is the scope of the enterprise architecture projects decided?
· b) Agreement on the scope is reached in the Preliminary phase and it is defined in phase A

Question 2-34
In which phase is the make versus buy versus re-use decision taken?
· c) Phase E

Question 2-35
In which phase are the Architecture Contracts prepared?
· e) Phase G

Question 2-36
Which of the following is not a part of the guidelines for adapting the ADM process?
· a) Coexisting with other Enterprise Architecture frameworks

Question 2-37
What question should the architect answer to ensure the completeness of the architecture?
· d) Does it address all the concerns of its stakeholders?

Question 2-38
Which of the following relationship between view, viewpoint, stakeholder and architecture is correct?
· c) One of more viewpoint can be used to cover a concern



Question 2-39
The Enterprise Continuum provides a model for structuring an architecture … (complete)
· a) Repository

Question 2-40
The TOGAF Resource Base is provided to be of assistance to the architect in the use of the … (complete)
· e) ADM

Question 2-41
Including the Preliminary Phase, the ADM Cycle contains how many phases?
· b) 10

Question 2-42
Business Requirements are of no value in TOGAF.
· b) False

Question 2-43
In TOGAF, the letters ADM stand for Architecture Development … (complete)
· b) Method

Question 2-44
Which among the following statements about Boundary-less Information Flow is NOT correct?
· b) It provides insights related to customer needs

Question 2-45
Which of the following is not true of the Architecture Development Method?
· a) The ADM explains how generic solutions can be specialized to support an organisation

Question 2-46
Which Phase of the ADM describes the defining scope and identification of stakeholders?
· b) Architecture Vision

Question 2-47
The TOGAF Document categorisation Model consists of four categories. Which one is not a TOGAF Document category?
· e) TOGAF Supplemental

Question 2-48
Within Phase C: Information Systems Architectures of the ADM which of the following is not a step stated by TOGAF
· b) Document dependencies and assumptions

Question 2-49
The objectives for Phase F, Migration Planning, does not include which of the following:
· e) To generate and gain consensus on an outline Implementation and Migration Strategy

Question 2-50
TOGAF defines four iteration cycles around the ADM phases. Which of the following answers correctly defines these four cycles?
CDPG
· b) Architecture Context, Architecture Definition, Transition Planning and Architecture Governance

Question 2-51
The Implementation and Migration Plan deliverable has the following content, except:
· d) Work Package Portfolio


Question 2-52
TOGAF deals with the architecture for; Business, Data, Applications and … (complete)
· c) Technology


ADM Guidelines and Techniques
Question 3-1
The TOGAF Qualities of Principles are; Understandability, Robustness, Completeness, Consistency and … (complete)
· c) Stability

Question 3-3
Does ADM support iteration?
· d) Yes, you can cycle around ADM, iterate across specific phases or cycle through some of the phases

Question 3-4
Which of the following is NOT a valid reason for wanting to tailor ADM for the specific need of the enterprise?
· b) An enterprise may wish to use or tailor the ADM in conjunction with the security best practices in use in the enterprise

Question 3-5
Which of the following is NOT an ADM Guideline or Technique?
· b) Use-case Modeling

Question 3-6
Which of the following is NOT a correct statement about concern?
· b) The terms “concern” and “requirement” are synonymous

Question 3-7
What are the levels of granularity the Architecture Landscape is divided into?
· a) Strategic Architectures, Segment Architectures and Capability Architectures

Question 3-8
Regarding Architecture Principle, which of the following statement is NOT correct? [Update: The answer to this question is not valid for TOGAF 9.1. IT Principles are now
· c) Principles must be derived from business goal

Question 3-9
Where the process of creating a Business Scenario does starts?
· b) Problem statements

Question 3-10
In which phases is the Gap Analysis technique used?
BE-GAP
· a) Phases B, C, D, and E 

Question 3-11
For which phases is the Business Transformation Readiness Assessment a key technique?
A(BTEA)EF
· c) Phases A, E and F  

Question 3-12
Which of the following statements is NOT correct?
· c) Capability is documented in Architecture Vision

Question 3-13
Which among the following statements about patterns is NOT correct?
· d) Patterns are a package of functionality defined to meet business needs across an organization

Question 3-14
 ‘The Architectural Representation of assets deployed within the operating enterprise’. This term in the TOGAF does this statement describe?
· d) Architecture Landscape
Question 3-15
Which of the following is not listed as a Technique for Architecture Development in TOGAF?
· b) Architecture Change Management

Question 3-16
Which of the following is not true of Principles in TOGAF?
· d) The Components of Architecture Principles are Name, Statement, Rationale, Implications and Risks and Issues.

Question 3-17
The TOGAF defined process for Risk Management consists of which activities?
· a) Risk Classification, Risk identification, Initial Risk Assessment, Risk Mitigation and residual risk assessment, and Risk Monitoring

Question 3-18
TOGAF classifies risk in response to their likely effect and frequency. Which of the following answers does not come from the suggested classification system in TOGAF?
· c) The Impact of a risk, that is the combination of Effect and Frequency can be classified as ‘High Risk, Moderate Risk and Low Risk’

Question 3-19
Which one of the following statements does not come from TOGAF Risk Management?
· e) The activities in risk management are Risk Identification, Risk Quantification, Risk Response Development and Risk Response Control


Question 3-20
Which of the following is NOT described by a Business Scenario?
· b) The underlying business vision
Question 3-21
Which of the following is NOT the source of a business domain gap?
· e) Data relationship gaps

Question 3-22
Which of the following is NOT the source of a data domain gap?
· c) Information gaps

Question 3-23
TOGAF states the basic premise of Gap Analysis is to:
· a) Highlight a shortfall between the Baseline Architecture and the Target Architecture

Question 3-24
Which answer is not an accurate statement about TOGAF Business Scenarios?
· e) Business Scenarios define requirements for sharing information and services within an organisation

Question 3-25
Which among the following is a technique for discovering the need for a Capability?
· a) Business Scenario
Architecture Content Framework
Question 4-1
Which of the following describes an architecture from a specific view point?
· b) An artifact

Question 4-2
Which of the following are NOT TOGAF deliverables?
· b) The Enterprise Continuum

Question 4-3
Which of the following is a work product which is contractually specified, and signed off by stakeholders?
· c) A deliverable

Question 4-4
Which are the 3 main categories of architectural work product does Architecture Content Framework specify?
· e) Building Block, Artifact and Deliverable

Question 4-5
What does Architecture Building Blocks do?
· b) They capture architecture requirements

Question 4-6
Which of the following is NOT the characteristic of a good building block?
· e) It may specify implementation details

Question 4-7
Which among the following statements is NOT correct?
· a) TOGAF recommends the way in which functionality, products, and custom developments are assembled into building blocks

Question 4-8
Which among the following is beyond the scope of governance of Architecture Contract?
· c) Facilitate re-usablility

Question 4-8
The relationship between the Architecture Continuum and the Solutions Continuum is one of ___ (complete the sentence).
(GDS)
· b) Guidance, direction and support
Question 4-9
Which of the following is NOT a key ADM Deliverable?
· e) Integrated Information Infrastructure

Question 4-10
What does the Architecture Requirements Specification provide?
· b) A quantitative view of the solution stating measurable criteria

Question 4-11
Which of the following is incorrect when describing Architecture Deliverables?
· e) Deliverables cannot be used as building blocks

Question 4-12
Which of the following correctly defines the Organisation category in the Architecture Content Framework?
· d) Location, Actor, Role, and Organisation
Question 4-13
Which of the following is not a Core Metamodel Entity?
· a) Standards

Question 4-14
Within the Taxonomy of Architecture Viewpoints which of the following is a Core Diagram of the Architecture Vision?
· c) Solution Concept Diagram


The Enterprise Continuum and Tools
Question 5-1
Which of the following reflects the architecture and solutions as they evolve?
· a) Enterprise Continuum

Question 5-2
Which of the following is NOT one of the classes of information within the Architecture Repository?
· d) Architecture Governance

Question 5-3
Which is NOT a part of Architecture Repository?
· b) A Stakeholder analysis and map

Question 5-4
Which of the following is NOT a part of Architecture Repository?
· e) Compliance Log

Question 5-5
What is a Standards Information Base?
· b) It holds a set of specifications, to which architectures must conform

Question 5-6
Which of the following statements about the relation between ADM and Architecture Repository is correct?
· b) At relevant places throughout the ADM, there are reminders to consider which architecture assets from the Architecture Repository that the architect should use

Question 5-7
Which of the following statements about Enterprise Continuum is NOT correct?
· d) It is a physical repository of all architecture assets models, patterns, architecture descriptions, and other artifacts produced during application of the ADM

Question 5-8
Which of the following statements is NOT correct?
· a) The Architecture Continuum provides a consistent way to describe and understand the implementation of the assets

Question 5-9
What of the following statements is NOT correct?
· d) TOGAF recognizes the need to manage the content of the Enterprise Continuum using tools but does not provide any guidance on tool selection
Question 5-10
In which phase are the nature and security considerations of information and service exchanges determined?
See (C) the security
· d) Phase A

Question 5-11
In which Phase is the risk identification and mitigation assessment worksheets are maintained as governance artifacts and are kept up-to-date?
RISK-G
· d) Phase G

Question 5-12
Which among the following statements about Architecture Continuum is NOT true?
· c) Every artifact in the Solutions Continuum has a one to one relationship with a corresponding artifact in the Architecture Continuum
Question 5-13
Which of the following is NOT a stated reason for using a tool for Enterprise Continuum?
· c) Facilitate easier maintenance of the software assets


Question 5-15
Which one of the following is not a characteristic of a building block?
· b) Building blocks cannot be decomposed into smaller supporting building blocks

Question 5-16
Which of the following is not a description of the Enterprise Continuum?
· b) The Enterprise Continuum uses the structure in the architecture Repository for the classification of assets

Question 5-17
The major components within an Architecture Repository are:
· a) Architecture Metamodel, Reference Library, Architecture Landscape, Standards Information Base, Governance Log and Architecture Capability

Question 5-18
The Enterprise Continuum contains the Architecture Continuum and … (complete)
· b) Solutions Continuum

Question 5-19
The Architecture Continuum consists of which types of architecture
FCIO
· c) Foundation Architectures, Common Systems Architecture, Industry Architectures and Organisation Specific Architectures


Reference Models
Question 6-1
What is the TOGAF Technical Reference Model?
· d) It describes a fundamental architecture upon which other, more specific, architectures can be based

Question 6-2
What among the following is NOT a part of the Integrated Information Infrastructure Reference Model taxonomy?
· d) Communication infrastructure interface

Question 6-3
Which among the following are NOT service categories in the TRM?
· e) Information brokers and application integrators

Question 6-4
The TOGAF Foundation Architecture comprises of the Technical Reference Model and the Standards Information … (complete)
· b) Base


Architecture Capability Framework
Question 7-1
When a Compliance Assessment has been rejected, Which Architecture Governance process is used to ensure service and operational levels are met?
· a) Dispensation

Question 7-2
An organisation IT's goals and objectives have been identified and standards have been fully developed. Which ACMM maturity level is the organisation at?
· c) Level 3: Defined

Question 7-3
Which of the following should be used to integrate federated architectures?
· e) An Architecture Content Framework

Question 7-4
Which of these are NOT the benefits of Architecture Governance?
· b) Improved software development productivity


Question 7-5
Which of the following is NOT a part of Architecture Governance?
· b) Improving the maturity level of architecture discipline within the organization

Question 7-6
In which phase is Capability Assessment carried out?
· a) It is first carried out in Phase A and updated in Phase E

Question 7-7
Which of the following is NOT the purpose of Architecture Compliance Review?
· a) To improve the maturity level of architecture discipline within the organization

Question 7-8
Which of the following statements is NOT correct?
· e) Architecture Governance helps creating organisational structures that enabled each individual department to operate at maximum efficiency

Question 7-9
Which are the six characteristics used in TOGAF to highlight both the value and necessity for governance?
DTIARF
· a) Discipline, Transparency, Independence, Accountability, Responsibility and Fairness

Question 7-10
Which of the following is NOT the responsibility of Architecture Board?
· c) Identification of risk and subsequent risk mitigation

Question 7-11
Which of the following is NOT a recommendation for Architecture Capability building?
· b) TOGAF states that Architecture Capability development should not be seen as a phase of an architecture project but as a separate one-off project

Question 7-12
Under Architectural Capability as an Operational Entity TOGAF states several benefits of architecture governance. Which of the following is not stated as a benefit of Architecture Governance in TOGAF?
· d) Managing compliance

Question 7-13
The following text is taken from the Terminology section of Architecture Compliance on TOGAF ‘All the features in the architecture specification are implemented in accordance with the specification, but some more features are implemented that are not in accordance with it.’ This text describes which level of architecture compliance?
· d) Conformant

Question 7-14
TOGAF states that establishing and operating an Architecture Board is more than offset by the savings accrued from preventing one off solutions and unconstrained development. Which of the following answers does TOGAF not state as a reason for establishing an Architecture Board?
· e) Better understanding of the business and their requirements

Question 7-15
Which of the following is not one of the Categories of Skills in the TOGAF Architecture Skills Framework?
· c) Procurement and Vendor Management

Question 7-16
The Resource Base contains information on a set of techniques for evaluating and quantifying an organisations EA … (complete)
· d) Maturity

Question 7-17
Which of the following is NOT a part of the Architecture Capability Framework?

d) Standards with which new architectures must comply

Question 7-18
What does the Conceptual Structure of Architecture Governance Framework contain?
PCR PFC
· c) Process, Content, Repository and Process Flow Control

Under Preparation
Question 1
Which of the following answers does not follow the TOGAF definition?
· e) A system is a regularly interacting or interdependent group of items forming a unified whole

Question 1
Which one of the following best describes the TOGAF standard?
· a) A framework and method for architecture development

Question 2
Which part of the TOGAF document provides a number of architecture development phases, together with narratives for each phase?
· b) Part II: Architecture Development Method (ADM)


Question 3
According to TOGAF, all of the following are suggested characteristics of an architecture framework, except ________
· e) A software development lifecycle method.


Question 4
Which of the TOGAF architecture development phases includes the development of Data and Application Architectures?
· c) Phase C

Question 5
Which one of the following does the Architecture Content Framework describe as a work product that is contractually specified, formally reviewed, and signed off by the stakeholders?
· d) A deliverable

Question 6
Which of the following best completes the sentence: The Enterprise Continuum __________
· e) provides methods for classifying artifacts

Question 7
According to TOGAF, in which ADM phase does the initial implementation planning occur?
· e) Phase E: Opportunities and Solutions

Question 8
According to TOGAF, which of the following reason why the first execution of an ADM cycle will be more difficult than later cycles?
· d) Because there are few architecture assets available

Question 9
How does TOGAF track changes in architecture deliverables and work products created in an earlier ADM phase?
· b) Version numbers

Question 10
Complete the sentence: The architectures that address the detailed enterprise needs and business requirements within the Architecture Continuum are known as _________
· e) Organisation-Specific Architectures

Question 11
According to TOGAF, which one of the following is described as a view of the Architecture Repository and provides methods for classifying architecture and solution artifacts as they evolve?
· c) Enterprise Continuum

Question 12
Which one of the following represents the detailed construction of the architectures defined in the Architecture Continuum?
· e) Solution Building Blocks

Question 13
An organisation has bought a large enterprise application. As a result, which of the following could be included in the organisation's Solution Continuum?
· e) Product information of the purchased products

Question 14
Complete the sentence. All of the following are technology-related drivers for architecture Change Requests, except ________
· d) strategic change

Question 15
Complete the sentence. In Phase C, when an existing application is to be replaced, the Data Architecture should _________
· c) identify the data migration requirements

Question 16
The approach of the Preliminary Phase is about defining "where, what, why, who and how we do architecture" in the enterprise. Which of the following statements is not correct?
· c) "Who" can be seen as defining the sponsor responsible for performing the architectural work

	#
	Deliverable
	PR
	A
	B
	C-sys
	C-data
	C-app
	D
	E
	F
	G
	H
	RM

	1
	TOGAF: Business Principles, Business Goals, Business Drivers
	C
	U
	U
	
	
	
	
	
	
	
	
	

	2
	TOGAF: Architecture Repository
	C
	U
	
	
	
	
	
	
	
	U
	
	

	3
	TOGAF: Architecture Principles
	C
	
	
	
	
	
	
	
	C
	
	N
	

	4
	TOGAF: Organisational Model for Enterprise Architecture
	C
	
	
	
	
	
	
	
	
	
	
	

	5
	TOGAF: Tailored Architecture Framework
	C
	U
	
	
	
	
	
	
	
	
	
	

	6
	TOGAF: Request for Architecture Work
	C
	
	
	
	
	
	
	
	C
	
	N
	

	7
	TOGAF: Statement of Architecture Work
	
	C
	U
	U
	U
	U
	U
	U
	
	
	U
	

	8
	TOGAF: Capability Assessment
	
	C
	
	
	
	
	
	U
	
	
	
	

	9
	TOGAF: Requirements Impact Assessment
	
	U
	U
	U
	U
	U
	U
	U
	U
	U
	U
	C

	10
	TOGAF: Architecture Vision
	
	C
	
	
	
	
	
	U
	
	U
	
	

	11
	TOGAF: Communications Plan
	
	C
	
	
	
	
	
	
	
	
	
	

	12
	TOGAF: Architecture Definition Document
	
	
	C
	U
	U
	U
	U
	U
	F
	U
	
	

	13
	TOGAF: Architecture Requirements Specification
	
	
	C
	U
	U
	U
	U
	U
	F
	
	
	U

	14
	TOGAF: Architecture Roadmap
	
	
	C
	U
	U
	U
	U
	U
	F
	
	
	

	15
	TOGAF: Implementation and Migration Plan
	
	
	
	
	
	
	
	C
	U
	
	
	

	16
	TOGAF: Change Requests
	
	
	
	
	
	
	
	U
	U
	
	
	

	17
	TOGAF: Architecture Contract
	
	
	
	
	
	
	
	
	
	S
	U
	

	18
	TOGAF: Implementation Governance Model
	
	
	
	
	
	
	
	
	C
	
	
	

	19
	TOGAF: Architecture Building Blocks
	
	
	
	
	
	
	
	
	C
	
	U
	

	20
	TOGAF: Compliance Assessment
	
	
	
	
	
	
	
	
	
	C
	U
	

	21
	TOGAF: Solution Building Blocks
	
	
	
	
	
	
	
	
	
	C
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18. Which of the following is NOT an objective of phase F? [Update: The answer to this question is not valid for TOGAF 9.1. The objective of phase F has been modified]
E – Formulate recommendations for each implementation project


Which of the following is NOT an objective of phase H?[Update: The answer to this question is not valid for TOGAF 9.1. The objective of phase H has been modified]
B – Mobilize supporting operations that will underpin the future working lifetime of the deployed solution
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QUESTION 1
Which of the following TOGAF components was created to enable architects to design architectures
‘addressing Boundaryless Information Fiow?

C. The Integrated Information Infrastructure Model
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QUESTION 3
Which one of the following statements about the structure of the TOGAF 9 document is rue?

E. Part Vi, the Architecture Capabilty Framework, describes processes and skils to establish an
enterprise function
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(QUESTION 4
Which phase of the ADM ensures that implementation projects conform to the defined architecture?

D. Phase G
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‘QUESTION 5
‘Complete the sentence. The Requirements Management Phase

E. stores requirements and manages their flow into relevant ADM phases.
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QUESTION 6
Which one ofthe following is an objective of the Preliminary Phase of the ADM

C. To define the framework and methodologies to be used
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QUESTION 8
Which of the following architectures in the Architecture Continuum contains the most re-usable
architecture elements?

B. Foundation Architectures
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QUESTION 9
Which of the following describes the Architecture Vision document?

C. A high level description of the baseline and target architectures
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QUESTION 10
According to TOGAF, which of the following best describes how the Enterprise Continuum is used in
organizing and developing an architecture?

E. Itis used to structure re-usable architecture and solution assets
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(QUESTION 11
What document is sent from the sponsoring organization o the architecture organization to trigger the start
of an ADM cycle?

D. Request for Architecture Work
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‘QUESTION 12
According to TOGAF, which of the following best describes Architecture Govemance?

E. The practice by which enterprise architectures are controlled at an enterprise-wide level
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‘QUESTION 14
‘Complete the sentence. According to TOGAF. al the following are responsibiliies of an Architecture
Board, except

A. Allocating resources for architecture projects
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‘QUESTION 15
According to TOGAF, which of the following best describes the purpose of a Compliance Assessment?

B. To govem the architecture throughout ts implementation process
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QUESTION 16
Which of the following describes a key objective of the Technology Architecture Phase?

B. To define technology components into a set of technology platforms.
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QUESTION 17
Which one of the following statements best describes why the ADM should be adapted?

D. To suit the specific needs of the enterprise.
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QUESTION 18
In which phase of the TOGAF ADM are Gap Analysis resuts from earlier phases consolidated?

B. Phase £
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QUESTION 19
Which of the following best describes the purpose of a business scenario?

D. To help identify and understand the business requirements that an architecture must address
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SQOES 1TON 29
According to TOGAF, which of the following best describes the classification of architectural change in the.
case where multple Server systems are being consolidated to a single system?

E. A simplification change handled via change management techniques
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QUESTION 21
Which of the following statements best describes the purpose of enterprise architecture?

D. To optimise an enterprise into an environment that is responsive to business needs
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'QUESTION 22
Which of the following statements best describes how Architecture Principles are used within the ADM?

D. They are used to guide decision making within the enterprise




image20.png
QUESTION 23
Which of the following statements about TOGAF Buiding Blocks and their use in the ADM cycle s correct?

A Building Blocks become more implementation-specific in Phase E
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(QUESTION 24
Which one of the following is an objective of Phase A of the TOGAF ADM?

E. To secure formal approval o proceed
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‘QUESTION 25
Complete the sentence. TOGAF 9 Part il provides a set of resources that can be used to adapt and
‘modify the

B. Architecture Development Method
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QUESTION 27
Which of the following is an objective of Phase B, Business Architecture?

B. To demonstrate how stakeholder concems are addressed in the Business Architecture
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‘QUESTION 28
‘Which section of the TOGAF template for Architecture Principles should highlight the business benefts for
‘adhering to the principle?

C. Rationale
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QUESTION 29
Which of the following is defined by TOGAF as a representation of a system from the perspective of a
related set of concemns?

D. View

QUESTION 30
Complete the sentence. The TOGAF Architecture Governance Framework includes

B. a model for goverance including process, content and context

QUESTION 32
Which one of the following best describes the purpose of ADM Phase E?

A. To define the initial implementation plans

QUESTION 33
Which one of the following categories from the Document Categorization model consists of the normative
parts of TOGAF which are considered central to its usage?

B. TOGAF Mandated

QUESTION 34
Which one of the following statements about TOGAF Building Blocks is true?

C. Ihe specification ot a building block should be loosely coupled to its Implementation

QUESTION 35
What part of the Architecture Repository shows the building blocks that are currently in use within the
organization?

A. Architecture Landscape

QUESTION 37
According to TOGAF, in which phase of the ADM should an initial assessment of business transformation
readiness occur?

C. Phase B
QUESTION 40
What technique does TOGAF recommend for evaluating the status of an organization to undergo change?

A. Business Transformation Readiness Assessment

QUESTION 42
Complete the sentence. According to TOGAF, a view is used to describe how the of a stakeholder are
being met.

A. concems

QUESTION 44

Which of the following best describes the state of architecture artifacts as a project progresses through
ADM Phases A to D?

D. The artifacts evolve from generic architectures to organization-specific architectures.

QUESTION 45
Which of the following describes the Phase H classification for an Incremental change?

A. A change driven by a requirement to derive additional value from the existing investment
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QUESTION 46
Which one of the following statements about viewpoints is correct?

C. A viewpoint is used as a template to create a view

QUESTION 47
According to TOGAF, in which sequence should Application Architecture and Data Architecture be
developed in Phase C?

D. Application Architecture and Data Architecture may be developed in either sequence

QUESTION 49
What level of the Architecture Landscape provides a long-term summary view of the|entire enterprise?

D. Strategic Architecture

QUESTION 50
A key step in validating a proposed target architecture is to consider what may have been forgotten. What
technique does TOGAF recommend to address this issue?

E. Gap Analysis

QUESTION 51
Complete the sentence. In the Preliminary Phase, all of the following are part of preparing the organization
to undertake successful enterprise architecture, except,

E. identifying stakeholders and their concems

QUESTION 52
Which phase of the ADM establishes a set of Principles?

A. Preliminary Phase

QUESTION 54
Which one of the following best describes the Architecture Vision document?

B. A description of how the new capability will address stakeholder concems

QUESTION 55
Which of the following best describes TOGAF?

C. A process model, best practices and assets to aid production, use and maintenance of enterprise
architectures

QUESTION 56
Which ADM phase establishes the connection between the architecture organization and the
implementation organization through the Architecture Contract?

C. Phase G
QUESTION 57

Which one of the following statements about the Requirements Management phase is true?

C. The phase manages the flow of requirements, storing them, and feeding them in and out of the,
relevant ADM phases

QUESTION 58
Which section of the TOGAF template for defining principles should highlight the requirements for carrying
out the principle?

A. Implications

QUESTION 61
Complete the sentence. All of the following describe a purpose of an Architecture Compliance review,
‘excent

C. identifying business transformation risks for an architecture project
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QUESTION 62

According to TOGAF, which of the following steps in Phases B, C, and D occurs before development of
the baseline or target architectures?

E. Select reference models, viewpoints and tools

QUESTION 63

Which ADM phase is responsible for assessing the performance of the architecture and making
recommendations for change?

E. Phase H

QUESTION 64
Which model within TOGAF is intended to assist with the release management of the TOGAF

specification?

B. The Document Categorization Model

QUESTION 67

According to TOGAF, how is the Enterprise Continuum used in organizing and developing an architecture?

A. To aid communication and understanding between architects
QUESTION 68

Which one of the following provides a foundation for making architecture and planning decisions, framing
policies, procedures, and standards, and supporting resolution of contradictory situations?

A. Architecture principles
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QUESTION 69
According to TOGAF, which of the following best describes the purpose of the Architecture Roadmap?

E. To show progression of change from the Baseline Architecture to the Target Architecture

QUESTION 70
What technique does TOGAF recommend that focuses on achieving business outcomes rather than just
technical deliverables?

C. Capabilty-Based Planning

QUESTION 74
Which of the following best describes an approach for adapting the ADM in the situation where business
principles dictate that a packaged solution be used?

A. Completion of the Business Architecture should follow the Information Systems Architecture

QUESTION 76
Complete the sentence. According to TOGAF, all of the following are responsibilties of an Architecture
Board, except

E. Preparing architecture review reports

QUESTION 78
Which of the following statements about TOGAF Building Blocks is true?

C. Building Block specifications should be loosely coupled to implementation

QUESTION 79

According to TOGAF, which of the following is a characteristic of a Foundation Architecture?
C. It contains building blocks and their corresponding standards

QUESTION 81
Which of the following describes an objective of Phase G: Implementation Governance?

C. Ensure conformance for the target architecture

QUESTION 82
Which of the following best describes the purpose of the Statement of Architecture Work?

B. It defines the scope and approach to complete an architecture project
QUESTION 83

Which of the following describes en objective of the Preliminary Phase?
E. Select and implement tools

QUESTION 84
In which part of the ADM cycle do building block gaps become associated with work packages that will
address the gaps?

C. Phase E

QUESTION 85

Which of the following is a responsibility of an Architecture Board?
C. Enforcement of architecture compliance

QUESTION 86
According to TOGAF, which of the following is the reason why Business Architecture is recommended to
be first architecture developed?

C. It provides prerequisite knowledge for undertaking work in the other architecture domains

QUESTION 88
Complete the sentence. The practice by which the enterprise architecture is managed and controlled at an
enterprise level is known as

A. Architecture governance
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QUESTION 89
Which of the following best describes the TOGAF classification in Phase H for a re- architecting change?

B. A change driven by a requirement to increase investment in order to create new value for exploitation

QUESTION 90

Which of the following best describes the purpose of the Business Transformation Readiness Assessment
technique?

A. To determine if the organization is ready to undergo change

QUESTION 93

According to TOGAF, which of the following types of architecture has major characteristics that include
‘open system standards and general building blocks?

B. Foundation Architecture

QUESTION 98

Which of the following does TOGAF recommend for use in developing the Architecture Vision?
B. Business scenarios

QUESTION 100

In which section of the TOGAF template for Architecture Principles would a reader find the answer to the
QUESTION NO: of 'How does this affect me"?

A. Implications

QUESTION 101

According to TOGAF, which of the following terms is defined as the key interests that are crucially
important to stakeholders?

A. Concems

QUESTION 102

When using a cycle of the ADM to establish an Architecture Capability as described in TOGAF Part VII,
which architecture would describe the infrastructure requirements?

D. Technology Architecture

QUESTION 103
Which of the following best describes the class of information known as the Reference Library within the
Architecture Repository?
C. Guidelines and templates used to create new architectures
QUESTION 105
Complete the sentence. According to TOGAF, a is a representation of a system from the perspective of a
related set of
D. view, stakeholders
QUESTION 107
Which of the following best describes the purpose of the Gap Analysis technique?
D. To identify missing functions
QUESTION 108

Which of the following describes how the Enterprise Continuum is used when developing an enterprise
architecture?

E. To structure re-usable architecture and solution assets
QUESTION 109

Complete the sentence by selecting the applicable pair of words. A/an is used in Phase A to help identify
and understand business that the architecture has to address.

B. business scenario, requirements
QUESTION 111
According to TOGAF, which of the following best describes an Architecture Pattern?

D. A way to put building blocks together into context
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QUESTION 114
Which of the following does TOGAF describe as "a formal description of a system, or a detailed plan of the
system at component level to guide its implementation"?

A. Architecture

QUESTION 116
In Phases B, C, and D which is the final step in each phase?

B. Create Architecture Definition Document

QUESTION 117

Which part of TOGAF describes taxonomies for categorizing the outputs of architecture activity in terms of
reuse?

D. Enterprise Continuum & Tools

QUESTION 118

Which of the following describes a purpose of an Architecture Compliance review?
B. Identifying errors i the project architecture

QUESTION 119

Complete the sentence: TOGAF provides a set of reference materials for establishing an architecture
function within an organization known as the

A. Architecture Capability Framework

QUESTION 120
Which of the following does TOGAF describe as a package of functionality defined to meet business
needs across an organization?

C. Abuilding block

QUESTION 121
According to TOGAF, which document should incorporate the actions arising from the Business
Transformation Readiness Assessment technique?

D. Implementation and Migration Plan

QUESTION 122

Which of the following best describes the purpose of the Architecture Vision?
A. It contains an assessment of the current architecture requirements

QUESTION 123

TOGAF Part VI, Architecture Capability Framework recommends use of an ADM cycle for establishing an
architecture practice. In this scenario which architecture would describe the organizational structure for the
architecture practice?

B. Business Architecture

QUESTION 124
Which of the following best describes a purpose of the Business Scenarios technique?

C. To help identify and understand requirements

QUESTION 125
Complete the sentence. The Requirements Management process is used to

C. organize architecture requirements throughout the ADM cycle
QUESTION 127

Which of the following is an objective of the Preliminary Phase?
D. Establish the Organizational Model for enterprise architecture

QUESTION 128
Which of the following best describes the class of information known as the Architecture Capabilty within
the Architecture Repository?

D. Processes to support govemance of the Architecture Repository
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QUESTION 129
Complete the sentence. According to TOGAF, an objective of Phase G, Implementation Governance, is to
C. ensure conformance with the defined architecture by the implementation projects

QUESTION 130

According to TOGAF, which of the following activities is described s part of the approach in the
Preliminary Phase of the ADM?

B. Defining a set of Architecture Principles

QUESTION 131

Which of the following describes the TOGAF classification in Phase H for a simplification change?
C. A change driven by a requirement to reduce investment

QUESTION 132
In Phases B, C, and D which is the first step in each phase?

E. Select reference models, viewpoints and tools
QUESTION 133

Complete the sentence. The ADM can be viewed as the process of populating the enterprise’s own with
relevant re-usable building blocks taken from the more generic side of the Enterprise Continuum.

A. Architecture Repository

QUESTION 134
Which of the following best describes the concept of Boundaryless Information Flow?
B. Getting information to the right people at the right time in a secure, reliable and timely manner

QUESTION 137

According to TOGAF, which of the following best describes the purpose of an Architecture Definition
Document?

A. Toactas a deliverable container for artifacts created during a project

QUESTION 138

Complete the sentence: Building Blocks that are viewed as being at the left-hand side of the Solutions
Continuum are known as

B. Foundation Solutions

QUESTION 140

Complete the sentence. The Enterprise Continuum provides methods for classifying architecture artifacts
as they evolve from.

B. generic architectures to Oganization-Specific Architectures

QUESTION 141

Which of the following describes an objective of Phase F: Migration Planning Phase?

D. Coordinate the Implementation and Migration Plan with other frameworks
QUESTION 144

According to TOGAF, which of the following define general rules and guidelines for the use of assets
across the enterprise?

A. Architecture principles

QUESTION 145

Which ADM Phase includes obtaining approval for the Statement of Architecture Work?
B. Phase A: Architecture Vision

QUESTION 146

Which section of the TOGAF template for Architecture Principles highlights the requirements for carrying
out the principle?

A. Implications
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QUESTION 147

TOGAF uses a version numbering convention to illustrate the evolution of the Baseline and Target
Architecture Definitions. Which version number in this convention indicates a high-level outline of the
architecture?

E. Version 0.1

QUESTION 148
In which ADM phase is the goal to ensure that the architecture achieves its original target business value?

D. Phase H
QUESTION 149

Which ADM phase starts with the receipt of a Request for Architecture Work from the sponsoring
organization?

A. Phase A

QUESTION 152
Which one of the following best describes an Architecture Compliance Review?

A. A review of an architecture project against established criteria and business objectives

QUESTION 154
Which of the following is a re-usable artifact that is used to create architecture models addressing
stakeholder concems?

E. Viewpoint

QUESTION 156
Which of the following does TOGAF describe as “the structure of components, their inter- relationships,
and the principles guiding their design and evolution over time"?

E. Architecture

QUESTION 157

Which part of TOGAF describes a step-by-step approach to developing an enterprise architecture?

C. Architecture Content Framework

QUESTION 158

Which of the following does TOGAF provide as a set of reference materials for establishing an architecture
function within an organization?

E. Architecture Capability Framework

QUESTION 160
Which of the following does the TOGAF ADM recommend for use in developing the Architecture Vision?

B. Business Scenarios

QUESTION 161
Which of the following does the TOGAF document define as architectural work product that describes m
‘aspect of the architecture?

B. Artifact

QUESTION 166
In Phases B, C, and D of the ADIVI cycle the first step defined is to select reference models, viewpoints,
and tools. Which of the following is the next step in each of these phases?

C. Develop Baseline Architecture

QUESTION 168
Which section of the TOGAF template for Architecture Principles should describe situations where one
principle would be given precedence over another?

C. Rationale




image33.png
QUESTION 171
Which of the following types of architecture defines technology standards for building blocks and provides
direction for products and services?

B. Foundation Architecture

QUESTION 172
Which one of the following best describes the purpose of the Communications Plan?

C. To ensure that the results of a Compliance Assessment are distributed to the Architecture Board

QUESTION 174
Which one of the following best describes Capability-Based Planning?

D. A planning technique that focuses on business outcomes

QUESTION 176

Which of the following does the TOGAF document define as the representation of a related set of
concems?

D. View

QUESTION 178
Which part of the TOGAF document describes an overview of typical architecture deliverables?

C. Architecture Content Framework

QUESTION 179

Which section of the TOGAF template for Architecture Principles should clearly state the impact to the
business and consequences of adopting the principle?

A. Implications




